

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



UNIT 5 Z - Transforms and Difference equations Solution of Difference Equation

Solving the of difference Equation: Formulas! $Z[y_n] = F(z)$ 2 [4n+1] = X F(2) - ZYO Z[4n+2] = Z F(2) - Z y 0 - Zy1 Z[yn+3] = Z3F(2)-Z3yo-Z2y1-Zy2. prime yo = ylo) y, = gu) Solve Yn+2+4yn+1+8yn=27. with yo=0 and y1=1 using z-transform. 4n+2+44m +34n = 20. Taking z-transform on both sides, Z[Yn+2]+4Z[Ynm]+3Z[Yn] = Z[2] $\chi^{2}F(z) - Z^{2}y_{0} - \chi y_{1} + 4[ZF(z) - Zy_{0}] + 3F(z) = \frac{Z}{Z+2}$ $z^{2}(F(z)) - 0 - z + 4zF(z) + 3F(z) = \frac{z}{z-2}$ $(z^2+4z+3)F(2) = \frac{z}{z-2}+2$ $F(2) = \frac{Z^2 + Z - 2Z}{(z-2)(z^2 + 42 + 3)}$ $= \frac{\chi^2 - Z}{(7 - 2Y)^2 + 4Z + 3}$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



UNIT 5 Z - Transforms and Difference equations Solution of Difference Equation

$$F(z) = \frac{z^2 - Z}{(z-2)(z+1)(z+3)}$$

$$\frac{F(z)}{Z} = \frac{Z-1}{(z-2)(z+1)(z+3)}$$

$$\frac{Z-1}{Z-2} = \frac{A}{Z-2} + \frac{B}{Z+1} + \frac{C}{Z+3}$$

$$= \frac{A(z+1)(z+3) + B(z-2)(z+3) + C(z-2)(z+1)}{(z-2)(z+3)}$$

$$Z-1 = A(z+1)(z+3) + B(z-2)(z+3) + C(z-2)(z+1)$$

$$Z-1 = A(z+1)(z+3) + B(z-2)(z+3) + C(z-2)(z+1)$$

$$A(z+1)(z+3) + B(z-2)(z+3) + C(z-2)(z+1)$$

$$A(z+2)(z+3) + C(z-2)(z+3) + C(z-2)(z+3)$$

$$A(z+2)(z+3) + C(z+3) + C(z+3)$$

$$A(z+2)(z+3) + C(z+3) + C(z+3)$$

$$A(z+2)(z+3) + C(z+3) + C(z+3)$$

$$A(z+3)(z+3) + C(z+3) + C(z+3)$$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE – 35



UNIT 5 Z - Transforms and Difference equations Solution of Difference Equation



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



UNIT 5 Z - Transforms and Difference equations Solution of Difference Equation

$$\frac{7-3}{(2+8)(z-6)} = \frac{A}{z-6} + \frac{B}{z+2}$$

$$= \frac{A(z+2) + B(z-6)}{(z-6)(z+2)}$$

$$7-3 = A(z+2) + B(z-6)$$
When $z = 5 \Rightarrow 5-3 = A(5+2) + B(5-6)$

$$8 = A(z)$$

$$A = 2/7$$

$$7 = -8 \Rightarrow -8-3 = A(-8+2) + B(-2-6)$$

$$8 = 5/7$$

$$9 = 5/7$$

$$P(z) = \frac{27}{z-5} + \frac{57}{z+2}$$

$$P(z) = \frac{27}{7} (\frac{7}{z-6}) + \frac{57}{7} (\frac{7}{z+2})$$

$$= \frac{3}{7} (5)^{7} + \frac{57}{7} (-3)^{7}$$